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EL = ]1(,;)1’01 —+ Igd)g’vg + 13(,(}3’03 (A214)

F7:30(200) & (A.213) & D
wXx L= (WQ13W3 — CU3]2(,<}2)’01 + (w3llw1 — w1[3W3)’UQ + (w1]2w2 — wﬂlwl)vg
= —(12 — Ig)&)g&)g'vl — (]3 — Il)W3u}1’02 - (]1 — ]2)W1W2’l]3 (A215)
DT, R (202) ITFRAT % &

Niv; + Navs 4+ N3vs
= L1V + Lwove + [3wsvs — (In — I3)wawsvy — (I5 — I )wsw vy — (11 — o) wiwavs

= [Ild)l — (]2 — ]3)&)2(,03]'01 + [IQ@Q — (13 — Il)W3CL)1]UQ + [Igd]g — (Il — IQ)WW)Q]’U;; (A216)
LD, & v OHIOREHNK (203), (204), (205) 252 5,

EEN TR ILF—DEREEM S (206)

T HEEER T OEB) T 2L X — (206) Z RIS 2 &
AK _hd o hd, Id,
dt  2dt 7t 2dt 7 2dt
L, d L, d Iy, d

— Lo, — 2290y — 39 n—
g WL WL T A W T 2y W

= [1&]1@1 —+ [2&)20..)2 -+ Ig&]g@g (A217)

— DR T w & N iZZznznal (200) &4 4 77— (203), (204), (205) THZ 5
50T,
w- N = wi(lw — Iy — I3)wsws)
+ wa(lowy — (I3 — Iy )wswr )
+ w3 (I3ws — (I1 — Iy)wiwe)
= Lwin =Dhwrosws + T3lreaws
+ Iytows—T3wrwaws + I1ioresslls
+ Tswss—Trereats + Lywrosls (A.218)
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THHDT, HEIZ R ILF — & Z DI
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Low:  Lyww, Laww, Lpww, Iyw, I,ww,

K =
2 2 2 2 2 2
n Low.wy — Lyw,wy N I .w?
2 2 2
Laow? Lyw? I,w?
=3 T 4 yy2 Y 4 5 2+ Lywewy + Lwyw, + Law,w,
dK [m d o Iy d I, d d d d
i o @ty @ty @t e g Wetn) o Lys g (W) o Lo ()

= Lppwewy + Iyywywy + I w.w,
+ Lyywawy + Lyywewy + Iy wyw, + Iy wyw, + Lpw.w, + Lpw.w,
= Wy (LpaWy + Lpyy + L,W,)
+ wy (Lpyy + Lyywy + 1.0,)
+ W (Lypy + Lypy + 1,W05)
= Wy Ny +wyNy +w. N,
—w-N

(A.219)

(A.220)

(A.221)
(A.222)
(A.223)

(A.224)

7%, BOETREHVDEE (Z2TD6,jlde,y, 22 L TE) FHOBEEZRD L DTIE RN C
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1
K = éwiwj[ij
dK 1d .
priabwr —(wiwj1;;) = 2wzw]I + §wiwj[ij
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CEXDAEEEDRRZEL (222)
AL 0, ¢ DRI D4,

d . o d . ;
pn sin(f(t)) = =70 sinf = 6 cos 0

D&Y B0, K (221) OfEEIEOREMIT X, X (220) D vz Z T
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(sin @ cos @)
(sin 0 sin )
d

Ecos@

cos ¢4 sin 6 + sin <4 (cos ¢)

= I3w | sin ¢ (sin §) + sin 64 (sin )
(—sin )6

0 cos b cos ¢ — ¢ sin O sin ¢

= 3w | O cosOsin¢ + ¢sinb cos ¢

—fsinf

d
dt
_ d
= ]3(4} i
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